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Division is the inverse of multiplication. To
solve an equation that contains multiplication,
use division to “undo” the multiplication.

4m = 32
n =% 4m means “4 x m.”
m=28
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Solve the equation. Check your answer.

5p =75 p is multiplied by 5.

= 75 Divide both sides by 5 to undo
5 the multiplication.

p =15
ICheck 5p = 75
?
5(15)= 75 Substitute 15 for p in the equation.

?6 752 75v 15 s the solution.
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Solve the equation. Check your answer.
_:I.i: % r is multiplied by 8.
2
¥ o =86)
A= b=l

(=2 Rr=1,
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Solve the equation. Check your answer.

P =75 p is multiplied by 5.

5
P=15

‘6(\5)315
3=V
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Solve the equation. Check your answer.
a= 72 a is multiplied by 8.

3 .
_g  $9:=73
-1 TR=72/
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Solve the equation. Check your answer.
E = 8Sw w is multiplied by 3.
5 E Bl 36
— 1
b= g 230
W=l 1§=18V
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Solve each equation. Check your answers.
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inches. Its length is 8 inches. What
is its width?

o The area of the rectangle is 56 square inches.

e The length of the rectangle is 8 inches.

The area of a rectangle is 56 square
SOLVING

Draw a diagram to represent this information.

56 W ,(UI:A
S X—y!—___.c:)lo
g

3
W=

Lesson Quiz

1. 10y = 300

2,2y =82

3.63 =9y

4. 78 = 13x

5. The area of a board game is 468 square inches.

Its width is 18 inches. What is the length?
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